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English Comprehension ML

Read The Passge and choose the most appropriate option
Artificial intelligence, or Al, is a technology that allows machines to “think” and perform tasks

that normally require human intelligence. Many people already use Al in daily life, sometimes
without noticing it. For example, when you use a voice assistant on your phone to set an
alarm or ask for directions, you are using Al. Similarly, when streaming platforms suggest
movies or songs you might like, Al is working in the background.

While Al makes tasks easier, it can also raise some concerns. Some people worry that
machines may take away human jobs. For instance, if robots can do factory work more
quickly, companies may not need as many workers. On the other hand, Al can also create
new opportunities in areas like healthcare, education, and transportation. Doctors, for
example, use Al to study medical pictures and find illnesses more accurately.

Experts believe Al is not here to replace humans, but to support them. If used wisely, it can
save time, reduce mistakes, and improve lives. However, people must also learn how to use
it responsibly so that the benefits are greater than the risks.

What is Al mainly described as in the passage?

a) A type of robot only used in factories.

b) A technology that allows machines to act intelligently.

¢) A computer used only by doctors.

d) A machine that replaces humans completely.

Which everyday examples of Al are mentioned in the passage?
a) Voice assistants and streaming recommendations.

b) Robot vacuum cleaners and self-driving cars.

¢) Social media feed and face recognition.

d) Smart thermostats and email spam filters.

What is one concern people have about Al?

a) It makes cities louder.

b) It can take human jobs.

¢) It increases reading habits.

d) It grows food faster.

What positive role can Al play in healthcare according to the passage?
a) Designing new medicines.

b) Making hospitals quieter.

c) Helping doctors identify diseases more accurately.

d) Replacing nurses completely.

What can be inferred about the future of Al from the passage?
a) Al will control all human decisions

b) Al will disappear soon.

c) Al has both risks and benefits dépe'nding on how it is used.
d) Al will only be used by students.
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B) olcll RISUWL Wl SMEs ol :susll atydl.

C) o5 Aot el Al 25U UL,

D) #251Re{l o{l[Allef 555 UM,
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Of¥RAct Bell AFMHL AURAGR HEo] BHH X 3H B?
A) slRaL ¥ = Hel Gelol 8,

B) 5120 ¥ Ul SMEs ol @IS dtll 26l .

C) 5RQ ¥ &l Fozrole cquRAel W B,

D) 5RQ ¥ ARsRell oA 2yd B,

ololl WatSell Gualol Alslal 3cll Al w2 53l o B2
A) Aol B¥ed Aol Gualol udl o .

B) ARAL ULAGIR IYAUA M2 U0 e cloll ks B,

C) Aol 250llAlY Beldot loteltell sl af B,

D) U810l AGR YAl lA3Nol UuHR5AL Ul AY B,

'Adlelel AR RsARE WA 2023'l yaed &4 9 B2
A) ARl ALRAGR 2JANAR UsSA.

B) c 2029 Yl cur RRzct AARAA YA s2¢ll,

C) elR A olcll sl2AEL (AR 219t 534,

D) et Geollal Hell Yrew yYul yil wsdl.

ol Aot Sl st (AAeatell WaKR Yreauo] AHEBS Uscl U qat B2
A) ARAGR gHARNY 32l] ofsilel Al B,

B) L&l Mosoyct WS otell Avtdl.

C) ULRAGR YReal HIA 25ellcl UR AR otell,

D) eltalR 8lell cilselot el S usllaLctt SuHHL Y5t B

Which type of bill cannot be returned by the President for reconsideration after being
passed by Parliament?

HUE 6lRLUAMR &l ugl epuld sl Ysizell QaLs Yol 12 uzd el
Ascll olefl?

A) Appropriation Bill --ue]Hl € el (Glct

B) Ordinary bill -4l Mol (Rt

C) Constitutional Amendment Bill-6{ti2elal YL @Qet

D) Money Bill -- sl

Which Commission was set up to review Centre-State relations in India?

ClReloll Bos-Aet oltllofl et s2cll 12 56 wololl 2246l s2cul 2l 5cll?

Options:
A) Sarkaria Commission-—42 $L321L" 2]

B) Punchhi Commission --lja-lﬂ_ w0l
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C) Mandal Commission---HSEL 202t

D) Kelkar Commission---5G52 32001

What does the Preamble of the Indian Constitution signify?
el citRglell Yrelldlell 9 ealld &2

A) Division of powers between centre and states-- $o% Wol A% L), %{ﬂwnqi
(Qeitesst '

B) Powers of the President—-21%2U(do{l ¥riizdl

C) The goals and aspirations of the people of India--GUR cloll’ %otcilall gl wal
vLsiatdl

D) Guidelines for foreign policy--[aéal oll[d H2etl Hiolesisl

How many categories of Fundamental Rights are outlined in the Indian Constitution?

etrclal olenRl Hueycd wESRA d2cll ARl ealclauui uicll B2
A) Five---u(

B) Six-—-&9

C) Seven---Alcl

D) Eight-—-0{l6

Unlike Fundamental Rights, why are Directive Principles of State Policy not enforceable by
courts?

A%2Usll oAt REs Rgicll, Yooy UL QU a2l @2l ol 12

o] 831 sl otefl?

A) They are guidelines, not legally binding---

A Hleels ol B, stojell 9 outaistdl otell
B) They are outdated principles—d %ol Rgidl ®

C) They apply only to states, not the Union—
A 5 A2 A U3 B, Josd otdl

D) They require parliamentary approval---a el 13[“(151 %3ﬂ 8

Who administers the oath of office to the President of India?
llRetell A UAA UE 28Rl sclloll AU AL UW B?

A) Vice President--- GU 1 u(d

B) Prime Minister--- Sl Ytllol

C) Chief Justice of India--- GURctoll Yual o2A21t]3l
D) Speaker of Lok Sabha--Glls¥ellell wLt2lel

What is the minimum time period required for public notice before introducing a
Constitutional Amendment Bill in Parliament?

el cluuRela yYuRl Qs 2% scll UBE 132 ARYU M2 o2jotctit AHANA
S2cll 8l ASA?
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A) One week — W Uscll(32
B) Two weeks --- 6l asclS2u
C) One month - W§ M@l

D) No notice required - 8l&5 al@U{l %32 otall
How is the Vice President of India elected?

GReell GuRARUL(l el 3cll A s B2

A) By the Lok Sabha only--$5ct GllSUGH GL3L

B) By an electoral college of both the Houses of Parliament--{AEall ial OLéldl lj\alac'll
yellotl el Hsa gzt

C) By the Rajya Sabha only--—-$5cl %211 gl3L

D) By the President-—-20%2U(Q gL
Who among has the power to commute the death sentence of a convict in a State?

A% AR cusRell Heyésoll wmal detsclioll At oll WA B2

‘A) Ministry of Law and Justice-—-Sl2LEL W\ oAl HALERY

B) The Chief Minister——3u13{=(]
C) The Governor---1%2L UG
D) The Chief Justice---4u21 o21l2u {9l

Which constitutional body is responsible for auditing government expenditure?
AlRclell 56 ARQURS el Us12ell WAl UslAL s2al gy YAl B2

A) Comptroller and Auditor General of India (CAG)-—- MlRcloll QUL A AWRe2? %olRE
(CAG)

B) Finance Commission-—-OﬂQllﬂﬂ 5@21@

C) Union Public Service Commission---?g[a.aici s Al sRatet

D) Election Commission of India-—j2@{lt20ot

Which organization became the first Indian NGO to win the 2025 Magsaysay Award?
20250l ARAA Y512 Yetoll2 YU a2l @ot-22513 2zel (NGO) 58 &?

A) Pratham -- YaH

B) Educate Girls -~ A%gJ}2 el

C) Smile Foundation - RHEE $1God 9ol
D) Teach For India-- 3l SR SRl

Who has been appointed as the IMF Executive Director for a three-year term starting
August 28, 20257

28 2012, 2025 A3 Ul AR ardoll sLASA B IMFoll UsBsyRet Brser tdly

8 (35t scumi wicay B2
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A) Arvind Subramanian --- WR(dg HoHRIH
B) Raghuram Rajan - 2¢RIM Aol
C) Shaktikanta Das - 25l €1

D) Urjit Patel - Gl¥d uzet

What is the name of India’s first fully indigenous 32-bit microprocessor developed for space
missions?
Aalslel Mot HE [QsatacuHi WA et Yux Hyal el 32-0fl2

HISSAURS] ollH 9 &7

A) Bharat-Chip X - ¢l d-RuU X

B) Shakti-2100 --- 2(51-2100

C) Vikram-3201 - (A$H-3201

D) Aryabhata-2001 --- 2l®lg-2001

Who is the owner of Google?
opletell Hilds s B?

A) Sundar Pichhai - €2 Qe
B) Alphabet Inc --- AEHLAR S0
C) Elon Musk - W Alet. 1z

D) Mark Zuckerberg -~ M5 93820401
Who devéloped and manages the Unified Payments Interface (UPI) in India?
ARl YRs8s ANeed BozBU (UPY) 5, [Asicy] uA auctol 53 B2

A) National Payments Corporation of india --- a2lelc{ URe2 SR 35 S
B) Reserve Bank of India -— Ro3cl dls g SE32u

C) State Bank of India - 322 &5 Als Sl

D) Phone Pe - §lot U

Who has been elected as the 15th Vice President of India?
ARl 155 QU U 3 A zam sy 7

A) Jagdeep Dhankhar - %9ElU iUl
B) Justice Sudershan Reddy - o2italltllat ofl. Ye oot 24
C) Venkaiah Naidu — 32l oll2s

D) CP Radhakrishnan - (L. UL, 2Atugwlel

In which city was the SCO meeting held?
sco HlEaL s wdmi AuteS scll

A) Tianjin - [Qalel([F et
B) Beijing - A1

Q) Shanghéi — gl
D) Astana - ¥cllell
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What was the name of the mission that carried Shubhanshu Shukla to the international
Space.Station in 20257

2025H1 Yoy Ysellal wicRRFA wdRet Has (1) Yell ces 2 Al Matoto] ottn
9 &q? |

A) Gaganyaan --- Ol2lel2llet

B) Chandrayaan-3 - {s2lle1-3

C) Axiom Mission 4 - V(ER2AM Ralet ¥

D) Artemis | — WS |

What is the full form of MOM in the context of India's space program?
ClRcloll uUaslel sllsuell AeelHl MoM of Y a3y g 82

A) Martian Orbital Mission -— HU(22tet w(zet Ratet
B) Mars Observation Mission —— H13l w0eoscalel Rotet
C) Moon Orbiter Mission - Yot 322 MLt

D) Mars Orbiter Mission - HI2l 20(cl2? Ralot

What was the name of the mission launched to rescue Indians from Ukraine during the
2022 crisis?

2022 oll ¥s2 e[ Yyotuiell edlaA ctaudal WE 243 sAde Meloto] ottt 9
&q?

A) Operation Vande Bharat --- 30UR2lol ci?

B) Operation Maitri - U 2lel 1]

C) Operation Ganga -— U2 9lel 2(9(

D) Operation Devi Shakti --- 3QU23lei & [l 2((5el



CHARUTAR VIDYA MANDAL’S
Vitthalbhai Patel & Rajratna P.T. Patel Science College
(Autonomous)
VALLABH VIDYANAGAR
Laboratory Assistant Written Examination
Part — B (Series : B)
Subject : Biology

Date : Time : 120 Min. Marks : 150
Candidate Sign. : ........cconvninnnen. Seat NO...coovenennnenes
31. AAARAU AdL ol 512 .. .. .. ....... ol GRLU wA B.

deficiency occurs due to Thalassemia disease.]

() AcdsLL [WBC]

(M) 5c15QL [RBC]

(5) 2550 [Platelets]

(5) 2022 [Plasma]

32. 32 of 53] Wélot VUEA%ol cgol WIS HUGLELR BD?

[Which blood protein is responsible for transporting oxygen?]
() 8lA°sal [Collagen]

(o) B0t [Hemoglobin]
(5) 2022 [Plasma]
(8) M0 {let [Myosin]

33. 46 (AR o cAst Sloll 611 A B? [Pure Blood is transport through................ ]
) @21 [Vein] (W) &E2L [Heart]
(5) 5% [Lungs] (5) tHA [Arteries]

34. (02 sl weulell (Bau i seli eesl Hee 532 B?

[Which components are helps in process of blood clotting ?]

1) Acsell [WBC] (&) 550 [RBC]
(5) Ass6 [Platelets] (5) BML ol AUl oLl mone of these all |

35.3 [@Ruul OC:ﬂOégC‘ﬂo'laj st ‘XQUCIL [What is the function of globulins in blood plasma?]
(W) VEA et cAgel [Oxygen transport]
(o) W &l@,l‘-lbu(a [Defense mechanisms]
(8) 22 o disld [Blood clotting]
(s) Yl [auHst [Osmotic balance]



36. 97% BEAAet .. .. .. .. 1L cldol WA B.[97% Oxygen is transport through.............. ]

) 2022 [Plasma] (01) EASRLRBC]
(8) A5 [WBC] (S) 2SS0 [Platelets]
37. 38R 32cll uesle] uale 8l B2 [Blood is made up of how many components?]

(Y2 ©H3 (84 ()5

38. ALARSASRN of YA ot $2¢] El2AD? [What is the average life span of RBCs?]
(1) 1 month (1) 4 months (%) 8 months (5) 12 months
39. 2@2uiell R sloliclal 53 tles £2 scltul wld B?

[Which component is removed from blood to form serum?]
() uldscal [Antibodies]

() BUeo}M et [Albumins]

(8) 2l cllot [Globulins]

(5) dlgleall of URala [Clotting factors]
40. QAL slgleuni 53 Yalot HEE U Al 87 [Which protein plays a crucial role in blood clotting?]
() 2w Aol [Albumin]

(o) Slif@.aﬂ%’o{ [Fibrinogen]

(8) 9lojcllet [Globulin}

(5) (31 0ocllelot [Hemoglobin]
41. 2R W2 .. .......... .. ve{l3%s AU B. [Blood is stained with.......... ]

) (@t 062] [Methylene blue]

(o) as%@u‘l [Safranin]

(5) A8 Aol [Leishman stain]

(5) S0l [Eosin]
42. 28R S\t AMIRLAl USl2UL A .. .. .. 53 B. [Process of formation of blood cells is called .......... ]
) R cusRA [Haemolysis]

(o) Suloslauat [Haemozoin]

(5) Fnalulalfla [Hematopoiesis]

(5) 84122 [Haemoter]

43. 5561 aj s0Rcllet ........ B, [Graveyard of RBC is............]
() " [Spleen] () AScl [Liver]
() 42[s [Kidney] (5) ALSHY [Thymus]



44 32611 sl 1N wldsiczlall el 52 B? [ Which blood cells secrets antibody?]

) gullllllfleu [Eosinophil] (W) ﬂoﬂ%ll&YQ%l [Monocytes]
(5) @@ 515 [Lymphocytes] (S) 2Ll [Neutrophils]

45. Hletcllott 2@ @SN of YouL d2clt 25t Sla B?

| How much blood cells are present in Human blood?]
RHSS % () 50% (8) 35% (5) 45%

46. A2l stletl g[ﬂesﬂtﬂ TR . § [Smallest blood cell is................ ]
() ollell ARSISN [Small lymphocyte]

(0l) 2ssRI [Platelet]

(5) 255l [RBC]

(S) A2 Sl [Neutrophil]
47. dloict AUl Al ay @2 sl ............... RUE)

[Most abundant blood cells in the human body are ........... .. ]

(@) A5 [WBC]

(6) R5ASQU[RBCs]

(5) 2UsSQU[Platelets]

(5) WAL 51N [Plasma Cells]
48. 2002 ofl wHled A pH.. ... §l2 B. [Normal blood pH is .... ]

Y7 (o) 7.2
(8) 7.4 (5)8
49 3@2 AU o{l 20 510l 5312 [Who discovered blood groups?]

() V. 24t [F. Galton]

(W) sid (A2 [Car] Linnaeus]

(5) Ascs Bel? [Edward Jenner]

(s) AosBel? [Landsteiner]
50 o{lAatl GRAUS aa@alcmﬂaa(ildlﬂua 8. [The following hormones are neurotransmitter]
) AletSeslatset wal ARNelled [Acetylcholine and Serotonin]
o) ARRSISRA U A 21 ASALES st [Cholecystokinin and Acetylcholine]
(5) Wdetll@et v A 2ASAS\AES o [Adrenaline and Acetylcholine]
(S) slARRsIS A i ascll@d. [Cholecystokinin and Adrenaline]



51. RBCe{l lel 20edl dvall [ HoA A Auerreneeererenns Ui olal HAL B,

[The lowest RBCs number is found normally in.. .. «.cooveieeen |
() sttt et (Q19) [Newborn]

(W) GLLOS [Child]
(5) Yol U [Adult male]
(5) Yol HElCEL [Adult female]
52. @Asty wiell .. ........ Ui DNA élq ool 7 [DNA is not present in out of below .......... .. .. ]
() UsSY [Ovum]
(ol) dlelty O [hair root]
() WRus<l Y519 [Mature spermatozoa]
(S) Yvcl RBCs [mature RBCs]
53. dRst @dlal ....... .. .. oll 5120 AU B, [Lymph is differing from blood due to ............]
(1) VEALOHL ol &lellell [no plasma]
(&) Y RBCs ol 9L WBCs [more RBCs and less WBCs]
(%) &Y WBCs 3lal RBCs oll Wellcl [more WBCs and no RBCs]
() W&lst (Aol of Lelloyul [plasma without proteins]
54. aaﬂ[%a ol th&l@&dl R [Characteristic of Basophils cell is .............. ]
() 81305 oll Vet [Nucleus absent]
(&4) 100-130 [ cluoll vt 1R & [Have a life span of 100-130 days]
(5) ((RI-QHLESQH o{l &L\ [Presence of lymphocytes]
(5) Breluset Ysd $3 [Can release histamine]
55, 3@200scl W2 39 Retllot.... ..... B, [The Vitamin essential for blood clotting is...........]
) A
(o) B
(%) C
) K
56. {RU cAldlell HASL D SRR S AML e oll vlelld 8.

[Serum is differs from blood because it has lacks of ............. .. ]
() dl6at U [clotting factors]

(o) AR o1S13 [antibodies]
(5) BUEoY (Mo [albumins]
(5) 2Alo2j(Aet [globulins]



57. Hiolclell ALEIHL WA2A 2™ 150,000 {1 450,000 UldL......... B,

[In Human platelets are 150,000 to 450,000 per .......... of blood.]
(1) 100 Milliliter (00) 1 Milliliter (5) 1 Microliter (5) 10 Milliliter

58. AULA 5c5R0oll 2l SY el HIZ S2Ul 25l YU UARS Elcll AQLeuni A 8,
[Which blood group is considered the universal donor for red blood cell transfusions?]
(M) A positive] (¢t) AB positive (8) O negative (S) B negative
59. Al 5580 UR Rh R oo sl %lelt HAL B? [Where is the Rh factor found on red blood cells?]

() 513505 Ui [In the nucleus]
(64) ¥UL8l UR [On the Surface]

() SL8RY ofl BiER [Within the cytoplasm]

(5) B0t 21 *1SIAE [Attached to hemoglobin]

60. Rh uRolqa...............
(A1) ABO W% [ABO antigen]
(o) B3 uR o [Rhesus factor]
(%) Bl AR (o et [Hemoglobin antigen]
() vl uldgcat [Plasma antibody]
61. Rt st A .. .. .. ... dolRUQ ol ctal@lsdL .

[Double fertilization is a characteristic of ......... plants.]

) i’}lﬂ&ﬂ [non-Flowering]

(o) 1ywdl [Flowering]

(8) Qioll [Pteridophytes]

(S) (8ol [Bryophytes]

62. Walldatdet QuL A .. .. .. ... UNoiol o ol 23U D ?

reproduction.]
(o) v(Ad(l [Asexual]

(S) <lletruldls [Vegetative]

[Tissue culture technique is a form of ............
) Astcdl [Hybrid]

() [@d(l [Sexual]
63. W(s2l 3 Boll 121 sctot (Aot AU [AsALctctHi WA Aol.....cns e
[The process by which fruits are developed without fertilization is called
) AWM sl [Apomixis]
(o) W eAlsidl [Parthenocarpy]
(5) wWAlBARYU [Parthenogenesis]
(S) ¥ $C ol [Self-pollination]



64. o{l Aottuiell 520 cdetruld 2ictana W-Alsiils soell [QAsiua G s? B2

[Which of the following plant hormones stimulates the development of ...... parthenocarpic fruit?]
(1) (Gt [Auxin]

(o) uA2\st2As(lot [Cytokinin]
(5) A clet [Gibberellin]
(5) BUR il 6Ltllos [All of the above]
65. qaﬁ-\-lfa@iﬁ’,l ol Qs ....... Hiell &z, [Plant embryo develops from........]
) ollos [Seed]
(¢)) $O [Fruit]
(5) oLels\N [Zygote]
(S) Y™ [Flower]
66. Yo o Hua s .. ........q] . [Main function of Flower is.......... 1
() wl1s 21§ [Food storage]
(6) Yell™ $ellcll [Fragrance]
(8) U%elal [Reproduction]
(5) Y2leiol [Decoration]
67. uyml colruf@ o1l ejaL............. 82 8. [Embryo of flowering plant is always............ ]
(¥!) Haploid [n]
(&) Diploid [2n]
(%) Triploid[3n]
(5) Tetraploid[4n]
68. Y322 U .....e..ae o] 3UlclRL B. [Stamen is a modification of........ .... .. ]
(¥l) uel [Leaf]
(o) @gyollon) uel [Microsporophyll]
(5 I{éloﬂ"&llﬂ uel [Megasporophyll]
(S) USLS [Shoot]
69. YsU oll s20L GULOL YRR Ussall HI2 Alsel sla B2

[Which part of the flower is sticky to catch pollen?]
() AU [Petals]

(6l) VisL2AA [Ovary]
(8) USUR [Anther]
(5) &l322191 [Stigma)]



70. [eveeenn. Hi URLOIRY of 2loliclRRl 35 % Blsoil ol Ysu 3 i 8.
Leom. 2. is the transfer of pollen grains from anther to the stigma of another flower of the same plant]
) @acﬂlfﬂl-ﬂ [Geitonogamy]

o) el [Cleistogamy]

(5) 21941 [Autogamy]
(S) PellolHl [Xenogamy]
71. cdlouel oit Rt dat Wi Avall ot QRAS .. ........... . B.
[In Pond ecosystem the pyramids of number is always................. 1
(1) Gull [inverted] () fleut [upright]
(5) ASLSL2 [spindle shaped] (5) wRAAR A [Ireguler]
72. (A wallaReL [Ea” .. ... ... oll Ao¥ Gorclatui d &:
[The “World environment day” is celebrated on .............. ]
) 15% June (ol) 5 June
(%) 5 January (S) 15" February
73. %A U ..., 5 ecll sl 8. [Forestis a ............ natural resource.]
() ¥[As [Biotic]

(o) w1%(As [Abiotic]
(5) o\ [Both]
() B [Cyclic]
74. Radetdal 1l AGA oA Ylls ........ .. A&ol AL D, [Energy flow in ecosystem is always ............ ]
(1) A 5% (2 2Ml [Unidirectional]
(o) ol (ouHl [Bidirectional]
(5) sitlles (2 Uil [Multidirectional]
(S) VlLHioll 6ltlls [All of the these]
75. Wl olt UgNQL ol AWl ot Al Al 82

[Which one is an important Source for Water pollution?]
() YIS\ [Smoke]

(00) VRAAA [Aerosol]
(5) EHENEPEEICETENL 2 [Radioactive compound]
(5) 9cj¥e2 [Influents]



76. UM &l 32 el UENRL ofSULet SIS B? [Which one Sound pollution is harmful for health?]

() ¥0db ol Gur (o) sodb &l GuR () codb &l GuR (S) 100db ol GuR
77, cereeeeees B CAURIGL L2 A Yol:ytrd A At Uslds B B,
[A renewable exhaustible natural resource is..........c.ceec..]

) ﬁa@.aﬂl [Petroleum]
(6t) Sl [Coal]
(5) %OLA [Forest]

(5) Wellos [Minerals]
78. UL &ML %oLAl 3smell wHlotell 2stcudl cotetot. ... B,
[In our country the percentage of land under forest is about....... ]
®) 22% (W) 19%
(5) 29% (5) 31%
79. AloAlEU AUUR ot Sl Al Yeclle] HRAA AlUHLe .. ............ A
[If there are no greenhouse effects the average temperature of Earth is.......
(W) 15¢ (o)) 10c
(5)-10c (5) -18¢
80. ‘-lalj.CRQ,ﬂ?J. LA L 161~ [Environmental degradation is due to................. ]

1) ld U 0ELsR0L [Rapid industrialization]
(o) 21831520 [Urbanization]
(5 (Asta ol stAl [Developmen(tal work]
(S) BLHLolLoLellos [AN of the these]
81. Platet dat vl dlell dotrulall A .. .. .. .. .. .. 53 B.

[In ecosystem green plants are known as........... ]
(@) cQUeL3] [Herbivores]

(6l) Guellscil [Consumer]
(5) GeULE S| [Producers]
(S) @Quzsl [Decomposer]
82. A5clott ARAGM SN wUSIR 2L, .. .. .. 82 B, [The shape of energy pyramid is always.... ..]
() ALt [upright]
(o) Gl [inverted]
(5) 2UL5LSIR [spindle shaped]
(5) 2Ll 5185 <&l [None of these]



83. [Rlclotcdat of slaleis ©2s ultcl. [What is the Functional component of Ecosystem?]
) %A s [Biotic]

(o) w%(As [ Abiotic]

(%) alseloll Yells [Energy flow]

(5) 2HI 9\ o1&l [None of these]

84. AlUCRBIML ............. % slolet StASULBS slwélaL B,
[Carbon dioxide present in atmosphere is................. %.]
Uy 0.32 (60 0.0032 (%) 0.032 (5) 32

85 slu g oll e c{l @lSIR .. .. .. B. [Natural reservoir of phosphorus is......]
(1) AU@NA [Fossils]
(o) UYsie] WIR( [Sea water]
(5) WRfloll 61551 [Animal bones]

(5) WSSl [Rock]

86. (Aaul crclell Alell ay ol AdlL.................. QUOLHL lal HAL B,

[The highest density of world population is found in.............. ]

) ulan qau [Western Europe]

(o) e(@e-ydl AR [South-East Asia]

(5) e(@Q-u@En NR2L [South- West Asia]

(S) 8@Ql AUNRsL [ South America]

87. dacldtllal €2 oll AU al .. .. .... .. O.[Study of population rate is known as......... ]
) 2lau sl [Topography] (ol) Sulon sl [Demography]
(5) WAau$l [Polygraphy] (5) 2019l [Geography]

88. @llRcloll 6l U¥otol ER (TFR) cAlBcdRHl Ulal.... .. ... oll 2R UR 2Ll o0 8.

[India’s total fertility Rate (TFR) Has recently dropped to the Replacement level of :]
Y 2.1 ©) 2.5 (8) 2.7 (5)3

89. Yollf2S AU BefAIR 2030 Yllul elRdell el arcdl 32cll 6212
[What is the projected Population of India by 2030 as per the United Nations?}
(L) 1.3 216% [1.3 billion]

(1) 1.¥ WA [1.4 billion]
(8) LM 6L [1.5 billion]
(S) 1.0 L6 [1.7 billion |



90. Ul W2 Bll{ler 1l calsallo(l w2200t AvAA .. .. .. 53 .

[What term describes the average number of persons per square kilometer?]
) cdzcll 9(& [Population Growth]

(®)) el (A2clQL [Population Distribution]
(5) dcll eletcll [Population Density]
(S) el 2 UelL [Population Composition)

91......... Yl AWClloll calle ol dvllell AMetl valael W BauuldBau -0 weuy B,
[.. .. ... .is the study of how organisms live and how they interact with their environment?]
) il sitet [Biology]

() cetru(AUBt [Botany]

(5) utellauzst [Zoology]

() URRA(AA sliet [Ecology)
92, e Rl B % ulRs d3l detruld wel Wil ola ol GuQlaL 52 B.

[ — are animals that feed both on plants and animals.]

() qousL?l [Herbivores]

(o) adetall [Omnivores]

€)) Quest [Detritivores]

(5) vunidl 515 o1&l [None of these]
93. Achl ol AR WY loll AU ollM.. .... ........ .. dsllolls oll Hist 2N BD.

[Shelford’s law of tolerance is named after.. ......... o . .. ]
(W) B AcH S [James Shelford]

(o) Bslot AEHLS [Jaccob Shelford]
() o2 AcslS [Ernest Shelford]
(5) VSRSt AcH\S [Eistein Shelford]
94. ol Aoituiell s sl WE UM Hecatyel B?

[Temperature is important for which of the following functions?]
(A) slcls [Solvent]

(@) Netelllds ug@B [Metabolic activities]
(5) Us12112ANEL [Photosynthesis]
(S) Y¥al [Respiration]

10



05, o{l Actintiell 53 Yol ur Aell 1 'siolat Rls' B2

[Which of the following is the largest ‘carbon sink ‘on the earth?]
() dictdRBl [Atmosphere]

(o) 12l [Soil]

(5) HELAULILR [Ocean]

(5) %OLAl [Forest]

96. UYLl 6L ual 5AC AAA A ..ovvveennns 23 wlavua 8.

[Relation between sea anemone & crab is known as................. |
(1 AR oA [Antibiosis]

(6) SIAAUUABH [Commensalism]
(5) *ul [Competition]
(S) H&Ll [ Predation]
97. cevvesrvsonns U §51RAMS GauQBu . [..cceeveemne .i§ a positive interaction.]
() Haul [Predation]
(00) WU ldl [Parasitism]
(5) URrdLE [Mutualism]
(5) Nl RN R [Antibiosis]
98. . i | HH\QJ. uAux Cﬂdj GELERRA B, [euerereerrrnnns is example of total parasite].
() UEs [Orchid]
(0)) At ¥t [Lichen]
(5) 822 52U [Hermit crab]
(5) UM A [Cuscuta]
99, vl 58 cotruld o cj@{&ﬂ 87 [Which one of the following is an insectivorous plant?]

()Ml W [Monotropa] (o) [QrsH [Viscum]
(5) Ao AH [Santalum] (5) SRR [Drocera]
100. Al Aottt ¥ Pui As wanld olloy yestldetl Al cllet A Aa . .. ......... .. 53 D

[A relationship where one species benefits at the expense of another is known as :]
) wAuclldl [Parasitism]

(0l) URYRdLlE [Mutualism]
(5) A o1 R [Antibiosis]
(5) AU (ABU [Amensalism]

11



101. Y2clloll Ht2L GULoLell HuA Y25 5201 B? [What is the main component of the Earth's core?]
VBNl VA ol B2l [Oxygen and Nitrogen]
(o) sl83losel vl RAS\A[Hydrogen and Silicon]
(%) RAsct el vt |Nickel and Iron]
(5) dlo o1Acll clifuil el WSSl [Frozen gases and rock]
102. Yocll vl Y3 d2Aq] 22 ¥2¢] B? [What is the distance between the Earth and the Sun?]
() 149.6 Millions kms
(6l) 15.98 Millions kms
(8) 169.34 Millions kms
(5) 179.67 Millions kms

103. Y2l A Asoofl 2uett 112 cautusud ellsd Rl v er o B

[The widely accepted theory for the formation of Earth and the solar system is the............... ]
(@) HetlQ8le Rsld [Big bang Theory]

(61) A6YAR YA HIRRU [Nebular Hypothesis]
(5) i‘juecﬂC{L I-Ld.i‘-ll? CU [Supernova Hypothesis]
(5)Aué I-LC&llQ BU [Planet Hypothesis]
104. Yl uR AYaH Pclotall GEGLd .. .. ..... .. .. ML &2l &,

[Firstly, life on the earth was originated in .. .. ......... .. ]
() Wl [Water]

(64) &<l [Air]

(5) écll [Plain land]

(S) uddl [Mountains]
105. yecllolt wRlels dotsstii Be@ 58 uzell ololl 8cl? [Which event occurred last on early Earth?]
) '\’Jﬁ‘adaj Rl-liL’,l [Ozone formation]

(¢) Wil Uz UV 512 53l vllsRsel U SLEF¥ol D [UV acting on water to form Oxygen and

Hydrogen]
(5) Qotdvell 1125(13{18[1 CO; B%5l [CO; release from molten Earth]

(s) Rotdell yecluisll NH; Gu%ot [NH; release from molten Earth]
106. AUAQ 5 GesilAoll Raid A v W AsouAc B ¥ yan Hldl of dset 52l 2020 Ggeall

&cll. [The theory of chemical evolution is associated with the concept that the first information

carrying molecules to arise were :]
() Ul&let [Protein] (6)) DNA (5) RNA (S) ATP

12



107. atma@s GeslfAell Ralc slel Y sl &cll? [Who proposed the theory of chemical evolution ?]
) Ut [Darwin
(e) Q1S [Lamarck
(8) Y U3t [Oparin]
($) 82 [Haechel]
108. Met2-2 Yot 52Ul YUsiRell AR ALUL §clL?

[Which types of molecules were formed in Miller-Urey experiment?]

1) Al ARS [Amino acids]
(01) ¥R 25U [Simple sugars]
(8) oysclls VRS [Nucleic acids]
(9 (3t Wl [ Complex protein]
109. A& yeelloll clclaQul s alt slR ol &cll?

[Which gas was not present in the primitive Earth’s atmosphere?]
1) M Act[Methane]

(o)) AUAU[Ammonia]
() 2UWEA < [Oxygen]
(S)Hl@,ﬂﬂ'ﬂ dRl0[Water vapor]
110. . AAUARS Gesil gLl aicatHl e dl wEala..... ... AQ ue ol 21 B:

[The process describe by chemical evolution is also known as ....................e. ]
) %A s [[Biological]

(o) Ao BARY [Abiogenesis)
(5) g€l uleo(l [Natural selection]
(5) o clls Ucllé [Genetics drift]
111 e A YBRARS S1N ] “UO%” B, [The "brain” of the eukaryotic cell is.............]
() SRUYA [Mitochondria]
(o) dtea(lst [Golgi body]
(5) Studos [Nucleus]
(S) Bl cl:SARUB A [Endoplasmic Reticulum]

112 oo ofl GRLU el ule st sAlAR U SIRQY o B,
[Deficiency of .......... causes chlorosis in older leaves.]
) s(@an [Calcium] (o) sloled [Carbon]
(8)A 2N [Sodium] () Ao [Magnesium]

13



113. 5182 of B(A™is stalel Ui acl ASAet al ....... ..... 53 B.
[The cytoplasm shrinks in a hypertonic medium is called...............o.... ]
() YR80l [Diffusion]

(60) RUUS\ Aol [Plasmolysis]

(8) AA220L [Osmosis]

(5) vlct:20N Bl [Imbibition]

114. «s14” 26€ S18l B2l ? [Who coined the term “cell”? |
() SRAA [Gorbachev]

(o) B AR [Himmler]

(8) A6te &5 [Robert Hooke]

(5) &JAol8ls [Leeuwenhoek]

115. viiell 568 2 el wiell AL NR61%R B?

[Which of these structures is absent in animal cells?]
() sl Eaa [Cell wall]

(o) 5305 [Nucleus]
(5) S\NRYU [Cytoplasm]
(S) slued [Cell membrane]

116. v ve e A Glijl:llhls el B, [o+ o+ o¢ ¢evenn iS a trace element.]

() ot [Boron] (@) 2t [Iron]

(8) %1 [Zinc] (5) GUR il ¢ltiof [All of these]
117. 9 <R™ Hl ..., . % W2lat slad. [Protoplasm contains.............. % Protein.]
@)9-10 (ol) 80 -90 (5)10-20 (5)2-8
118. [Qudld N@HQQL.. e o 3L uet llaulle é.[[Reverse osmosis is also known as:]

) slauz (3R alel [Hyperfiltration]
(o) QA 421 [Hyper osmosis]
(5) Act$u(@ U0l [Double osmosis]
(S) UMW [Diffusion]

119. Ul eallysd wizont st wiellelt yM@L A ... ... 53 8.
[Diffusion of water through selectively permeable is .........]
) uAsAA [Plasmolysis] («) M@.QﬂﬂQl [Imbibition]
(5) URL [Diffusion] (5) N@HQQL |Osmosis]

14



120. .. ...... A WRUR] 3 cetrulAa BitagLs volloy declloll 3R B,
[Plants need essential minerals was first proposed by.............. 1
() Rt [Simpson]
(&) 431 [Muree]
(5) vliolot Vel 21B2 [Arnon and stout]
() AR\ [Aristotle]
121, e eeveeeenn DL BE BOLRUG WolloF Al B, [evererenvennnnnne is an important mineral nutrient.]
(W) sl §loral [Hydrogen)
(o) slLeSZ\o ot [Nitrogen]
(%) dUsAosot [Oxygen]
(5) stolat [Carbon]
1 ) TR ) | c—tgtﬂus ctect otell. [ereenmenmeneonanes is not a trace element.]
() ASlaAH [Sodium] |
(o) ollR\et [Boron]
(8) stolel [Carbon]
(5) B¥s [Zine]
123. il 539 uRB ot uuel ofl slat uR AUR 53 B 2

[Which of the following factors affect the process of diffusion?]
() édl [Air]

(61) U5l [Light]
(5) Wl [Water]

(S) cltuHlol [Temperature]

124. oll&ASIN Sodl2l DNA.. .. ........ ...Hl %lcll HA B, [Extranuclear DNA is found in...................
() AU [Ribosome]

(o) 83 ctsBl [Chloroplast]

(5) dleollstaL [Golgi body]

(5) ¥ c: 514U 0 [Endoplasmic reticulum]

15



125 63 sl HL usLal wGauall sl e 82 [In chloroplasts, where do light reactions occurs?]
) dtelUed [Outer membrane]
(o) AuldRsuea [Inner membrane]
(5) BASBSUE [Thylakoid membrane]
(5) R\ML [Stroma]
126. 5QUAYA2A ETS Ui A Aslot 2cllsiz g A B ?

[What is the final electron acceptor in the mitochondrial electron transport chain?]
() FAD

(6l) NAD+
(5) llsflosat [ Oxygen]
(5) well (water]
127. o{lAettHiell sl UM ETS &l 872 [ETS is present in which of the following part?]
() SBUAHYA [mitochondria]
(01) 81 30% [Nucleus]
(5) GUESAS\H [Lysosome]
(5) olco{lstat [Golgi body]
| Y. A Sell AR O SEAURAD.]eeererreeennes is called the energy currency of the cell.]
) ASHeAH [Lysosomes]
(o)) 05U+t [Oxygen)]
(8) ATP
(5) sRUYA [Mitochondria]
129. ustardiadugtell viusik ulsaual. .. .. 53 .[Dark reaction of photosynthesis is also known as....]
) (3t uglau [Hill Reaction]
(0l) 3(cAs1 U5 [Calvin cycle]
(5) AslA 521 5812124A UL [Cyclic photophosphorylation)
(5) vusla $l2l5l8l121A el [Non-Cyclic photophosphorylation]
| ™ | E?l\!lt’j uldR slGU 58 @.[ ............... is known as power house of cell.]
(30 AUSA%IH [Lysosome]
(0l) sBUeLYA [Mitochondria]
(5) 514 %c% [Nucleolus]
() d0eo(lsLat [Golgi body]
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131. 52Ul 5ol Forcllot Gelel 52 8.2 [which cells are produced Insulin?]
(@) uLest S [Alfa cells]

(o) oflet S\ [Bita cells]

(5) oUHL 51Nl [Gama cells]

(5) 3cal sl [Delta cells]

132. Uy 2AR1R 53 [QatMet Gedot s otell?

[Which one of following Vitamin cannot be produced by our body?]
®y A

(o) K
(%) C
(5) GURell 61t [All of the above]
133. Wdet 101 A AsuAcll 21 58 B? [which gland is associated with Digestive track ?
(V) Ascl [Liver]
() reltg (s [Pancreas]
€)] cloi@ [Salivary glands]
(5) GuUR ofl sttllos [All of these]
134. dElsil ULl dtell s elol WlRLs Edclle] 511 528 ? [Which part of the cockroach's digestive

system is responsible for grinding food?]
(L) ULslA([Crop]

(o)) QNQﬂ[Gizzard]
(5) %62 [Stomach]
(5) AR [Intestine]
135. clElMl .. .... .. GlRL Budal A2 B ?[Excretion in cockroach is performed by............. 1
1) HicdQ e «A[@ sl [Malpighian tubules]
() Go(lst [Nephridia]
(8) ¥AASIN [Flame cells]
(5) 42A[s [Kidneys]
136. ollotl (R Sla] waMs sial .. .. .5cla] 8. [The primary function of the small intestine is .......
(@) Wellej 2B [Absorption of water]
(o) stollstes32a] UlAet[Digestion of carbohydrates]
6)] CE dccnt!j QHN.Ql[Absorption of nutrients]
() A<t «ll 2218 [Storage of bile]
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137. WAel 1l A<l of 5121 ¢ & ? [What is the role of bile in digestion?]
V) Veell ARsa [AlS2a 52 B [Neutralizes stomach acid]
() A0{le] Ms1eL 52 ® [Emulsifies fats]
€)) Wélet cj [Qeedt 53 B [Breaks down of proteins]

(S) GAUs ofl Bau GlB 53 B [Stimulates enzyme activity]

138. Hdelcdtoll 5L GLOLAL, clt?] of QAL a2 B2

[In which part of the respiratory system, gaseous exchange takes place?]

() WA [Alveoli]
() $3o5 [Pharynx]
(5) 563Ul [Larynx]
(5) a0l [Trachea]
139. o{lAot il 2] 2UAc{le] s12l B?[What is the primary function of the trachea?]
@) <3 (A[Ax2[Gaseous Exchange]
() ¥5uL Yl sclle] UR Aset[To transport air to thewlungs]
(8) scltal (3ceR 52 [To filter air]
(8) teto{l Gelol [To produce sound |
140. 56%2lol ol .. ...... URL 5&cLHl WA B [The Larynx is also called the .. ......]
() $3lo5U [Pharynx]
(64) 35 [Lungs]
(8) 202 [Voice box]
() A [Alveoli]
141. veLdel ol Bal. .. .. ... .. Hl A D, [Fermentation occurs in the............. ]
) U otofl slos3l [presence of oxygen]
() U etofl N261%31 [absence of oxygen]
(5) aAlgloretall slordl [presence of nitrogen]
(5) stolatall los?l [presence of carbon]
142. dcllAS (A sall 2 B2 [Where does glycolysis is occur?]
() sBUEYA [Mitochondria]
(01) 5\™30% [Nucleus]
(5) SluRUac [Cytosol]
S) RollAu |Ribosomes]
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143. dclAS(ARY e2(Maltet o slosett As wHgui ol ........... HA.

[What is the net ATP gain from one molecule of glucose during glycolysis?]
() 2 ATP

(0)) 4 ATP
(8) 6 ATP
(S) 8 ATP

144. Woldl F5AHL s1R BBl ofl gt vielPd dvau 8.

[The total number of alveoli present in the human lungs is estimated to be around........... ]
(*Y 1 billion

() 800 million
(5) 500 million
(8) 1500 million
145. sctlAslclflu A . .. ..uill-l?ﬂllQl mmvllaé?[Glycolysis is also known by which pathway name?]
() $0LUS5 [ Kreb's cycle]
(o)) A1l WA [EMP pathway]
(5) 8A52el 2lot Qe RR2H [Electron Transport System]
(s) ANaAUYl-9ie [HMP-shunt]
146 sctAsIARY ulBaun e auet 96813 oll UMY .. ........ .. Hi [Aeud wa .

[Glucose molecule during the process of glycolysis is broken down into................]
) 4 Waiz(ds AR [4 pyruvic acid]

(o) 3 Wwaz(@As AR [3 pyruvic acid]
(8) 2 waz(As AR [2 pyruvic acid]
(5) 1 wA(ds ARS [1 pyruvic acid]
147. A6{l ol {Aet2ot 112 UM Gl21 520 GAUS Gl ALA B?

[Which enzyme, produced by the pancreas, is essential for breaking down fats?]
() AUSA [Amylase]

(0l) AL [Lipase]
() 2LURA [Trypsin]
(5) Y5\% [Sucrose]
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148. W2lat of [Aetzet 526112 WA GAUS Yy sell glall 1A B?

[Where is the enzyme pepsin, which breaks down proteins, primarily found?]
() ollo] Bi2SL [Small intestine]

(¢) Asd [Liver]

(8) %62 [Stomach]

(5) et g (s [Pancreas]
149. Alses ARS oli vl Hi vilAH sAsAet ells124l12. . ... . . D

[In lactic acid fermentation, the final electron acceptor is.. .. .. covvveee o |

®) alszs AR [Lactic acid]
(o) UlAz4A2 [Pyruvate]
(5) 0sA%el [Oxygen]

(S) NAD

150. pUEA3Z el FRERAUAUA M2 %I eererrrcrreenne. o] oUUS GlA GeulEd AL B,
[Product of Krebs cycle essential for oxidative phosphorylation is .. ........ .....]
() NADPH and ATP

(o) VRIS A CoA [Acetyl CoA]
(5 COua AlsAucAlRl2e [CO2z and oxaloacetate]
(5) NADH and FADH:;
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